

सब पढ़ें सब बढ़ें SAMAGRA SHIKSHA OFFICE OF THE U.E.E. MISSION

(A Society under Education Department, Govt. of NCT Delhi)
District North, Lucknow Road, Delhi – 110054
Ph.23811442, 23810508, 23810647 Email:-spd_delhi@rediffmail.com

No. F (DE) 29/SS/PEC/2020-21/ 3034-73

Dated: 23/11/20

CIRCULAR

Subject:- Celebrating Rangotsav in Schools under Sub-Component Funds for Quality (LEP, Innovation, Guidance etc.) of Major Component Quality Interventions of Delhi under Samagra Shiksha 2020-21

The Project Approval Board, Ministry of Education, Govt of India has approved Rangotsav, the festival of colours which will be conducted online at elementary level in Govt. schools of DoE, MCDs, DCB and NDMC Delhi.

- On account of closure of schools due to the pandemic, the activities will be conducted online at school level, as well as at cluster level in the first week of January, 2021.
- 2. Target group and proposed activities at various level in school-

Target	Proposed Activity		
Class - I & II	Vegetable/Thumb Painting Poem Recitation [Topic:- Patriotism] Fancy Dress [Topic:- Corona Warriors		
Class - III to V	 Spray Painting:- Say No To Crackers Clay Modeling [Topic:- Birds and Animals] Solo dance [Topic:- Any Dance type] 		
Class – VI to VIII	 Collage Making Competition [Topic:- Republic Day Celebration] Poster Making [Topic:- Say 'No to Drugs'] Singing Competition [Topic:- Desh Bhakti Geet] 		

3. DURCC's will search and collect guidance videos links pertaining to activities mentioned above, from different sites and share them with schools, which will help teachers to train and acquaint students with the activities. These videos must be shared at least two weeks before the Rangotsav activities. 5. Teachers will conduct the online activities at school level through whatsapp and other online modes. They will instruct students and parents regarding the activities and ways to submit the entries online clearly indicating name, class and section of each child.

6. The best 3 entries for each activity will be selected by the school judgement team which comprises of (HoS/In-charge Teacher/SMC member. These selected entries will be sent in hard as well as soft copy to the concerned CRCC for evaluation at cluster level.

7. Judgement team at cluster level will comprise of 1 CRCC, 2 HoS (1 of DoE and 1 of MCD). The team will select the best 3 entries of each activity (3 activities) from each level (3 levels) at cluster level i.e., total of 9 prizes (I, II, III prize) will be distributed to the winners by 30.01.2021.

8. Details of expenditure on prizes per cluster:

Prize	Amount (In Rs.)	No. of Prize	Total amount (In Rs.)
1st prize	150	9	1350
2 nd prize	135	. 9	1215
3rd prize	123	9	1107
Total			3672

9. Detail of activities and prizes at cluster level:

Target Group	No. of Activities	Total Prize (I, II, III for each activities)		
18.11	03	9 9		
III to V	03	9		
"VI to VIII	03	9		
Total	9	27		

10. The fund will be transferred district wise among all 13 districts.

Thus, District wise amount distribution is as under:

S.No.	Districts	No. of Clusters (Physical Target)	Unit	Total Financial Implications	
1.	East	16	3672	58752	
2.	North East	20	3672	73440	
3.	North	8	3672	29376	
4.	North west - A	12	3672	44064	
5.	North west - B	15	3672	55080	
6.	West - A	8	3672	29376	
7.	West - B	11	3672	40392	
8.	South west - A	5	3672	18360	
9.	South west - B	12	3672	44064	
10	South	8	3672	29376	
11.	South East	11	3672	40392	
12.	New Delhi	3	3672	11016	
13.	Central	7	3672	25704	
	Total	136		499392	

11. The Judgment sheet (Annexure I) and record of prize winners (Annexure II) at cluster level to be provided to Primary Education Cell through mail (primarycelldelhi@gmail.com) and also submit the hard copy in the office of the Primary Education Cell Samagra Shiksha, Lucknow Road, Timarpur Delhi – 110054 by 05.02.2021.

(Mohinder Pal) DDE -Samagra Shiksha

Copy to:-

1. P.A. to SPD, Samagra Shiksha, Delhi

2. P.A. to Director, Education, Directorate of Education, Old Sectt. Delhi.

 Director, Centre for Cultural Resources and Training (CCRT), (Ministry of Culture, Govt. of India) 15A, Sector-7, Dwarka, New Delhi- 110075.

4. All Consultant /Co-ordinator /DPOs/BURCCs/CRCCs to ensure the compliance of the instructions.

5 OS (IT) for uploading it on web-site.

6. Guard file.

19/1/2006 (Mohinder Pal)

Almunda

DDE -Samagra Shiksha

Annexure I

Rubrics for Judging Competitions

Target	Proposed Activity	Judgment Criteria	Max. Marks
Class - I & II	Vegetable/Thumb Painting .	 Creativity and uniqueness, Clarity and neatness, Color composition used 	
	Poem Recitation [Topic:- Patriotism]	 Verbal clarity, Action and emotions, Confidence 	30
	 Fancy Dress [Topic:- Corona Warriors 	Creativity, Confidence, Well preparedness	
Class - III to V	Spray Painting (Topic:- Say no to crackers)	 Colour compositions used, Neatness, Social message conveyed 	
	Clay Modeling [Topic:- birds and animals]	Uniqueness of Model, Colouring of the model, How self explanatory is the model.	30
	 Solo dance [Topic:- Any Dance type] 	• Costume, Choreography, Expressions	
Class - VI to VIII	 Collage Making Competition [Topic:- Republic day celebration] 	Raw/ Waste/ Recycling material used, Attractiveness, Precision	
	 Poster Making [Topic:- Say 'No to Drugs'] 	Clarity and beauty of the picture, Social message conveyed, Uniqueness	
	 Singing Competition [Topic:- Desh Bhakti Geet] 	Verbal clarity, Action and emotions, Confidence	30

Record of Prize Winners for Rangotsav 2020-21

S.no.	Name of the Student	Class	School name	School ID	Management	Fathers/Mother s Name and mobile no.	Name of the Competition Won	Level of Prize I, II, III
					chi .			
			1.6	(4) 4 - 4 - 4 (4) (4) (4) (4) (4) (4) (4) (4) (4) (V		
	EMER IN	22-12						
						1/4	1 4 18	
	1			•	•			
					16-18 100			
		1				L LANF		sa H
			18.65	7.13				
			1					
						The war May		443721
						"我们还是	1 1 1 1	LINE STATE
148			SHEW AND		478 700			